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PART ~1: MENTAL ABILITY TEST
(For Student of Class YIID
Max. Marks: 90

INSTRUCTIONS TO CANDIDATES
Read the following instruction carefully before you open
the question booklet.

1.

2.

Answer are 10 be given in the OMR answer sheet .

There are 90 questions in this test. All are

compulsory.

Choose the correct answer from the options given for
each question and darken the corresponding circle
with blue / black ball point pen in the OMR answer
sheet.

Since the time allotted for this question paper is very
limited you should make the best use of it by not
spending too much time on any one question.

If you do not know the answer to any question, do
not waste time on it and pass on to the next one. If
time permits. you can come back to the questions,
which you have left in the first instance and attempt
them.

Rough work can be done anywhere in the question
booklet but not on the OMR sheet / loose paper.

Every correct answer will be awarded one Mark.

Please return the OMR Answer sheet oniy to the
invigilator after the test. You can retain the question
Booklets.

English version of the question paper will be
considered as final in case of any dispute arising out
of variation in translated version.

Quote your seven digit Roll number without fail for
any future correspendence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING
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auflppenm (aflearm eTevar. 1 (pged 6 eusmiy)

gporemd  afiemeseflls  cewraser  /
TipSSSEEaT R (GO L  aNHulsring
suflmeliubiGsie Herarar.  Gaarailé@mh
(7 @uiu@ster  @LSHs  sfhurs

CunpEss  sntgw  sroooremflemem  /
srsdaear Qor@Esiu’Qersr 4 wrHn
aflen_saflelimha CaEOsHSHSaLb.
9,28,65,2,217, ..cevuns
1) 126 2) 115
3) 116 4) 124
1,2,6, 24, 126,720,? ......
1) 5004 2) 5040
3) 4040 4) 3040
36,4,18,8,9,16,?.........
1)18 2)32
38 4y 2
) 2
A26, B25, .......... ?
nZ 2)Y1
L) WA 4) 726
5,7,12,19, 2, 50, .........
1) 30 2) 31
3)18 4) 26
A, A,B,E,C, LD M, E, ?
HE F
3)B 4)Q
anflsnm (eflerm stair 7 Lhnro 8)
Qarhssiu{srer @zm_fle &is

quSGGse  allQulGeTerar.  semens

Cargg Qg m_iflsmear SE0FETED
T SSPsTET Csm_ngrs SJEDLOLLLD.
IIsGWSHISHemen LOmDHEY
sfisnLseflsdimEg CHMERSHES:

__bbcee __ ddecee

i) bede 2) beee

3) acde 4) adde

X26__ 25K Ji0__2A

1) Y12 B2 2) Y1iB1

3) Y10B2 4) Y11B2
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Direction (Question 1-6)

In each question, the numbers / letters
are arranged in a sequence based on
certain principle. Select the answer
from the four alternatives given under
each sequence for the term marked by
the symbol (*?°)

9,28,65,7,217,.........

1) 126 2) 115
3) 116 4) 124
1,2, 6, 24, 120,720, 7 ......
1) 5004 2) 5040
3) 4040 4) 3040
36,4,18,8,9,16,7 .........
1) 18 2) 32
9

3)8 4) =

) )5
A26, B2S,.......... ?

HZ 2)Y1
3) Z1 4) 726
5,7,12,19, 2,50, ..ocvvuns
1) 30 2) 31
3) 18 4)26
A, AB EC LD M,E,?
HE 2)F
3)B 4)Q

Direction (Question 7 and 8)

Some of the letters are missing which
are given in that order as one of the
options given below. Select the correct
option.

__bbece _ _ ddeeee

1) bede 2) bece

3) acde 4) adde
X26 __ 25K __ _ J10_ 2A
1) Y12 B2 2) Y11B1

3) Y10B2 4) Y1iB2
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11.

12,

13.
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femme; Gleiun  ereamenflsnsr/srgsHansr
CoiABEEs

72 146 ?
18 23 7 63 2 28

1) 116 2) 118
3)114 4112
G v R
s P R L N
)T 28
HU 4HV
4 10 6 12 ?
7 19 11 23 | 29
1)13 2) 15
3)16 417

sufiisom (2Slerm erever. 12 (&0 15 eusmi)
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S safldiphs CoMosOSg Hoey
Qi Coumm@. * ' ot GO OsE

yerert @@ amigemssst  Ggm my
PSS Geng. o5 Gemin
AirHushis @i suangulles *: :° sTsiTm
SIS lebrort QLo
NSO HHEHLD Sjemioit Gesvor(RiL.
Operator : Machine : : -———--- : Driver
1) Captain 2) Ship
3) Aeroplane 3) Bus
16 : Pt wommmee W
1) 22 2)23
3)21 4)20
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10.

11.

12.

13.

Direction (Question 9-11)

The diagrams and the numbers /
letters follow certain principle. Find
the missing number / letter indicated
by question mark (*?°)

¥y 146 ?
1 a3 7 8 I 38

1) 116 2) 118
3) 114 H112
G v R

A C P R L N
T 2)S
3HU Hv

4 10 6 12 2 |

7 19 11 23 29
1)13 2)15
3) 16 4) 17

Direction (Question 12-15)

There is a blank space in Question
12-15, in which only one of the four
alternatives given under satisfied the
relationship as is found between the
terms on the other side of the sign *: ¢’

Operator : Machine : : -——-—--- : Driver
1) Captain 2} Ship

3) Aeroplane 3) Bus

16:P:: - W

1) 22 2)23

3)21 4)20
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14.

15.

t6.

17.

18.

19,

20.

21.

15:224:: 121 ———

1) 225 2) 243

3) 145 4) 143

Girl : «~~-emm--- : : Boy : Handsome
1) Smart 2) Tall

3) Fair 4) Beautiful

sufipemm (efierm stemr. 16 — 24)

Spargmrh eSleTnssEnse Wl Gummsaioner
siiswLuflsmerr  QanBise0u’Rerear 4 LomhHy
ailsor_sefledimhg Gaikbighasarn

‘Ring’ steirugy ‘gold’ etefled ‘Chair’
STEITLIGH

1) Wood 2) Paper

3) Table 4) Bench
‘TROPHY’ srerugl ‘Sports’ eraflss
‘DEGREE’ sraarug

1) Examination  2) Convocation

3) Education 4) Paper

e,  epd@, GCzmb  gudweubm siv
Qism_rysoLwg)

1) @ 2) pisomiie

3) angy 4) se06STs0

Qar@sslu’ L 4 suriGmgsafls
CsTLILNNSTS SjEmULD AITTSaS

1) sarefumgufl 2) CamubySEmT
3) HnCmeGusl  4) GNHSI5GY

QasBésiu’L 4 samasstls Gsm_fupm
6T60IT
1) 25
3) 196

2) 81
4) 256

QarRSSILLL 4 sumiSem s e 6ifis)
QEM_TUDDSTES JEMOLLD ST HEDS
1) Talking 2) Speaking
3) Smelling 4) Crying
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14.

15.

16.

17.

18.

19.

20.

21.

15:224::12 ; -

1) 225 2) 243

3) 145 4) 143

Girl ; ———emaeen : : Boy : Handsome

1) Smart 2) Tall

3) Fair 4) Beautiful
Direction { 16 -24)

Identify the most appropriate

alternative among the given four
alternatives

If ‘Ring’ is related to ‘gold’ then
‘Chair’ is related to

1) Wood
3) Table

2) Paper
4) Bench

If ‘TROPHY?’ is related to ‘Sports’
then ‘DEGREE’ is related to

2) Convocation
4) Paper

1) Examination
3) Education

Which of the following is connected
with eye, nose, skin?

1) Heart 2) Lungs

J) Ears 4) Liver

Choose the word which is least like
other words.

1) Kanyakumari
3) Tirunelveli

2) Coimbatore
4) Tuticorin

Choose the number which is different
from others.
1) 25

3) 196

2) 81
4) 256

Choose the word which is different
from others.
1) Talking
3) Smelling

2) Speaking
4) Crying
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22,

23.

24.

26.

P*Q erstrudlev P srearusui Q-eflggismw 22.

S|

P+B ersrudisd P erstrusui Q-er eneare)
A+C*B erstrug g Qumr@msatomss

&a OO

1) A ersrusui B-wllstr gyutor

2) B srerrusui A-ufletr Loger

3) A sremusut B-ullsim g8

4) A ersarusur B-uflstr #Garaif]

R suwsner CrTsHH e Qusir “He is 23.

the son of, the only son of my
grandfather” srané Fupflsarmen
LU eRlifNEG SiBS nLULIST TeTeT

2 may.
1) #Cangil 2) sCangres
3) wasir 4) gremg

R GOULSHR GHLUGSmOT 3 aITEl 24.

wemenell, 3 WSHTHST WOHMID EUTHSTS
uenaTaSiL(mLD DYLFIG BT, GLogyin,
RGN LSMIGESG! 3 WeTEET LHMILD

Elren{  weaTEST o 6wemen  ereofled
SEGHUUSHD  eeder oy ewseaflsr
sTsvaTsual BN

11 2) 18

313 4) 21

suflapsnm (efiewm sredar 25 Wbt 26)
P Qs 1y s E 4 sTemseT p+q>r+s; p

+r=q+swuhms p =% (q + s) erexflsb 25
Dmid 26— eflaTTS&EnaE aflant weflss.

4 srsaarasafled Qufhy eredmm T 25.
i)p 2)q

IHr 4)s

CupsanL  uhlmasafid  a&smdm 26,
gflurer s.mm ?

) ptq<r+s 2) ptr#qts

Jp#r 4 p#q
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If P*Q) means P is the father of )
P+B means P is the wife of Q then

which of the following statement is

true for A+C*B

1) A is the mother of B

2) B is the daughter of A

3) Ais the aunt of B

4) A is the sister of B

Pointing towards a boy, a woman said
“He is the son of, the only son of my
grandfather”. How is that boy related
to the woman?
1) Sister

3) Son

2) Brother
4) Father

A family has a man, his wife, their
three sons and their wives. The family
of every son also has 3 sons and two
daughters. The total number of male
members is

11 2) 18
3)13 4) 21

Direction (Question 25 and 26)
Ps q, Iy § are four numbers such that
ptq>r+sand p+r=gq+s. Further

p = :l_! (q + s) then answer the

questions 25 and 26

Which number is largest?

)p 2)q
IHr 4)s

Which of the following statement is
correct?

1) ptq <r+ts
Hp#r

2)ptr=qts
Hp#q
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27.

28.

29.

30.

anflipsnm (aflem sredr 27 — 29)
QarESSUUL (HeTar S ELEVGENET
SHUATING LS 27 (PSR 29 eusnTuilsomsar
aflarrsaEnsE aflmiwsflssauh

A syeeut B-m afl 2 wmb; C eyereut A-
& afiL (ememamesut ; D ayemeui E-g
eflen. 2 wmomemeut opemred B-m el

{GSTETLOMEaT 6UIT éreuflel Elsurasefls
(&6 TEMOMEuTeUIT

HE ' 2)B

3)C 4D

G glLiutswusds P, Q, R, §, T
Dy AGwMT sekg Clsrem_art. P gy emsurt

Q-5 yerargrHan gema  R-5E
Heramsreayd aumHpet. S guemant T-6@

wersrgrsan Q6@  stemgrsaun
sumBprt el UEswEHe  Qsumr
@Qubment

HP )T

3)R 4) 8

@ 246 Culiusufl_ib 25 gy Giser

o _sirsmenr. “All but fifteen died” ereflsd

s psrer g B&erler stevmanfldans

1) 15 2)25

3) 10 4) sewrsEL @i

aufipsom (eSlear etevor. 30 WG 34 eusnr)
Qar@ssiu’L EGphmnsenss o ul®
afleorm  eteir. 30 g 34 auemy
eflsn_weflSseyLD,

A, B, C, D, E, F yfCGumr eu’L
algaflsd goikgerarsrd. B aysmreut F
whprh C-5@ QaLufignn ; A gyereuri £
whmed D-&@ Qenuligud : F ayemeur D-
6@ BLiusssHann uihgsTeareaTi
steufled

A-&@0 F-n@lh @emuflsv o|ofbgismemeud

HD 2)B
3HE 4)C
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27.

28.

29.

30.

Direction (Question 27 - 29)
Read the information carefully and
answer the questions 27 to 29.

If A is taller than B; C is shorter than
A; D is taller than E but shorter than
B then the shortest person is

HE 2) B
3)C 4D

Five boys P, Q, R, S and T took part
in a race. P finished before Q but
behind R. S finished before T but
behind Q. The person who won the
race is

1) P )T
3)R 4)S

A shepherd had 25 sheep. “All but
fifteen died” the number of sheep left
with is
1) 15
3) 10

2) 25
4) Can’t be determined

Direction (Question 30 — 34)

For the given situation, answer the
questions 30 — 34

Six persons A, B, C, D, E and F are
sitting in a circle. B is between F and
C; A is between E and D; F is to the
left of D.

Who is between A and F?
1D 2)B
HE 4$)C

tamilnavarasam.com



31.

32.

33.

34.

35.

36.

37.

B-&@i C-H@W @aLfld syoimhgsrereut

1)A 2) ersugmLilsusmen
3»D 4HE

E-5 susoliugaid oohgsmemeut
1) A 2) B

3D 4)C

F-8@ @ luseatn g)Loihgieremeur
1)B 2) A

»ncC 4D

B-8@ QL Cussin sofkgerareur
HE 23D

HA 4)C

auflipenm (@Sl sretar. 35 B 39 aueni)
Spsremid ULSHHeET SeuaTOTS LTTSE)
35-39 cuspmSlsorsT eSlenTIT S & (ETH ()
aNlen_wefssah

Glasueusid — = wimnomeTeNT
sl L1b — eflememum’ (B syt
(pSCHTemD — ofley Gnifemin 2_eTareurt

27N
40 6
2 WITmHm 2fley & iremio @sars
aflememum”_(y) el aeflsir sTesoranflsna
1)24 2)51
3) 43 4) 16

2 umerar aflensmum’( eIy sTdHHenar
Quir ?

1)8 2) 19

3)30 4) 21

2 wiporer fleyen Fenia o sirer
aflsmsmum_(h ey sT&Gemenr Gt 2
D3 PARY

3)8 4) 30
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31.

32.

33.

34,

35.

36.

37.

Who is between B and C?

DA 2) none
»HD 4)E
Who is right of E?

1A 2)B
3D 4)C
Who is left of F?

)B 2)A
3)C 4)D
Who is left of B?

HE 2)D
HA 4)C

Direction (Questions 35 - 39)
Study the following figure carefully
and answer the questions 35 - 39,

The rectangle represents tallest;
The circle represents sport persons ;
and the triangle represents intelligents

The number of sport persons who are
neither tall nor intelligent, is

1) 24 2)51
3) 43 4) 16
The number of tallest sport persons is
1)8 2) 19
3) 30 4) 21

The number of tallest intelligent sport

persons is
1)3 2)9
3)8 4) 30
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38.

39.

40.

41.

42.

43.

silmerwm R  efyissT  geors ey

n TEOLOILIDM 2 \ITLOTETeuIT & eifisir
eretoremf I emna

1) 40 2} 76

3) 67 4) 46

S WML BN6YSTOT6LITEST sTESemenr GLIT

1) 30 | 2)3
3)6 49

sulflpenm (eflsarr sTever. 40 (&6 44 susniy)

Speramid  HuESmaTEEHEG 2 Lul{
40-44  awewmilorer  eflammssEmsE
sllenLwefl&seyn

‘WISH YOU ALL SUCCESS’ etstrug

‘YKUJ AQW CNN UWEEGUU’
sTemr 2 (HeurssluLms “YOU CAN”
ETETLIG6 @TeirLmb sumigengullssr 3—-
UG STUSESTT 2 (HEUTSELD

HQ 2) P
3)0 HR
‘CHENNAI' aréiugy ‘DIFOOBY e

2 maursaLu L m ‘MADURAD stedruigetr
2_(hEUT&H&In

1) NBEVSBJ
3) MBEVSBJ

2) NBDVIBJ
4) NBEVSBK

‘SQUARE’ etetrugl ‘1917211185’  erer
2 (UM SLILL LTe) ‘RECTANGLE’
STEITLIZ6HT 2_(1heuT & aLD

1) 1753201147125 2) 1853201147125
3) 1953201147125 4) 1853201114126

‘YOU' ereirugsir o (peundain 60; ‘HE -
e aurssid 13 ; ‘SHE'-6r 2 (reurésid
32 srarflss ‘ME’-siv 2_peund &b

1) 16 2)19-

3)17 4)18
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38.

39.

40.

41,

42,

43.

The number of tallest persons who are
neither sport persons nor intelligent, is

1) 40 2)76

3) 67 4) 46

The number of tallest intelligent
persons is

1) 30 2)3

36 49

Direction (Question 40 — 44 )

For the given situations, choose the
appropriate option for the
questions 40 - 44

If ‘WISH YOU ALL SUCCESS’ is
coded as °‘YKUJ AQW CNN
UWEEGUU’ then the code of the
third letter of the second word of
“YOU CAN” is

HQ )P

30 : 4 R

If ‘CHENNAY is
‘DIFOOBJ’ - then

coded as
‘MADURAI’ is

coded as
1) NBEVSBJ 2) NBDVIBJ
3) MBEVSBJ 4) NBEVSBK

If *‘SQUARE’ is coded as
‘1917211185’ then ‘RECTANGLE’ is
coded as

1) 1753201147125 2) 1853201147125
3) 1953201147125 4) 1853201114126

If ‘YOU’ is 60; ‘HE’ is 13 and ‘SHE’®
is 32 then ‘ME’ is

1) 16
3)17

2) 19
4) 18
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44,

45,

" 46.

47.

48.

49.

10

‘PHYSICS’ srsirug| 114+19+2+8+18+24+8
arafleo ‘HISTORY eréitug)

1) 19+18+8+12+9+2

2) 19+18+7+12+9+3

3) 19+18+7+12+9+2

4) 18+19+7+12+9+2

anfiapso (el sei. 45 @g)ﬂ) 50)

Spssramib smrULhse saflsgafiuns 3
o prniseflss  GamLUiLEmars Clameirngi.
gsuQaurm eflemrallgd QanR&HsUu_ HsTer

(A) ooezi (B) vags (C) siovng! (D)
g (E) Qsn@iusedr qCamn a6

uBemar  HeoaramisiSns) S|BED6ITE
SSITEU0T .

CoLele
§¥ Oc

5@, FeoLiLen, (SathuamenD
nB 2)C
3D 4) A

SAPETE, HGFH, CamublsmT
1) A 2)E
3)C 4B

Cumibsl, Basing, st
B 2)A
3)C 4HE

L EneTeseT, Emilser, Qesveoliiymentissir
nce 2)D
3)A 4)B

@k, SOHHTE, whokisT
NE 2)A
3)C 4)B
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44,

43.

46.

47.

48.

49.

If ‘PHYSICS? is 11+19+2+8+18+24+8
then ‘HISTORY’ is
1) 19+18+8+12+9+2
2) 19+18+7+12+9+3
3) 19+18+7+12+9+2
4) 18+19+7+12+9+2

Direction (45 - 50}

The following diagrams show some
relationship among three items. For
each group of clements there
corresponds one diagram (A) or (B) or
(C) or (D) or (E). Select the diagram
for the questions 45 to 50.

© Y
§ Oc

Home, Kitchen, Bathroom

1)B 2)C
3)»D 4) A
Tamilnadu, Trichy, Coimbatore
DA 2E
3)C 4)B
Bus, cycle, Car

1)B YA
3)C 4) E
cats, dogs, pets

nC 2)D
HA 4B
India, TamilNadu, Srilanka
HE 2)A
3)HC 4) B

tamilnavarasam.com



11

50. Sy Sifhurse, o e Sy APuFssiT, SipemeT
o0 gy A e
B 2)A
3)E - 4D
suLfipemm {eSieorm eregar. 51 mmnb 52)
QarR&suLCHieTer 8 (T {5316 & DETLLD,
S g &EmATILLD, Gaeflaurs ufisg
S weildaaD.

51. el SIS S g0 EGI QILSE GHTHS
50 1§ GTmb GGG ewreori jeny S|emasley
(45°) @Lg ussurs @bl ererd
peoLullensr Ggm_idmmi ereofley  SHGELTS)
QesgId Haos
1) Qsetr SWpSES 2) Qs GG
3) OBhG 3) G @

52. A sreirueut B-&@ Ogmdlgud C srerueut
B- Suysfan Goiared A-gl
Qurmss! C addemaudis o eremmi ?

) o s 2) L. Guis;

3) Gigstr HLpsS 4) Qg6 G
anfpenm (aSlswm eretor. 53 HMID 54)

e il o 6TaT ENGTEG IMTSmSS6TI
R QAT &M S Qar@sail Hsrer
sumiSmssefles o smeT ST SIS HEMT60
o_meurdaiuLailsosna. 2|55
amgmgufmar CEIEOSHSsMD

53. Advertisement
1) tease 2) time
3) driver 4) never

54. Combination
1) notion 2) nation
3) motion 4) caufion

RangaRakes

50.

51.

52.

53.

54.

Teachers, male Teachers, Handsome
male teachers

HB 2)A

3HE 4D

Direction (51 and 52)
Read the content, sense the direction
and answer the questions 51 and 52.

A man starts walking from his home
northward, a distance of 50 mts and
then took a half turn (45°) towards
left. In which direction is he walking
now?

1) South east
3) South

2) South west
4) North west

If A is to south of B and C is to the
east of B, in what direction is C with
respect to A?

1) North East
3) South East

2) North West
4) South West

Direction (53, 54)

Among the four words, one word can’t
be made from the letters of the given
word. Identify the word.

Advertisement

1) tease 2) time

3) driver 4) never
Combination

1) notion 2) nation
3) motion 4) caution
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55.

56.

57.

58.

59.

60.
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aufilpen (eSem stevr. 55)

sfsnLufled o 6Tar mUSTE UM HenGHefle
90 gm anisms, Garhésiucerer
AUMiGmeSHaldd 2 6Ter  TIRSSISSETTE
9 (HOUTSSLILIL(RET6T . LY,
sumigemsuilsnsr CHIEGSH&SaLD.

Newspaper
1) now
3) nose

2) swap
4) pepper

suflpsnm (adleor ersdar. 56—59)

— gretTy @OIE &n L OTSHEID

x sT6oT (GINGEH QIGSSOTSHAD

+ sratry @OUIE Cup&smsab

= sTetTm GOWIE sUldsmreEad GuTsT
QansmLme 56 (g 59 suemruilever
e ense efomLwallssa.

18 x 6 — 5 =3 erstrLigedr Lo
s 2) =3
3) 12 4) 10

(52 =12) x 8 +6-5 sreruZeT WS
1) 40 2) 36
3)35 4) 42

16 x (10 - 6) = 1— 8 sretTUIG6IT OGN
1) -6 2) 6
3) -8 4)8

SPRIHEISTOIDIGT 2_CTTEDLOLITET &nH)
TG ?

1) 18 x 6 stetruigy 3 2) 2x10 stebrug) 20
2) 10 - 6 sTebTug 4 4) 16+4 eravTLIG) 4

anflpenm (@fam eretor. 60 (ps56 65)
Qarpsain L 6T GRIHT ST S5 56T
anigomgssT  IMuSgissafll Qe
wppeaselLBGEg Soflids  2-6Targ).
2igmer CaMECsH6S

b 2)¢
3)d 8T
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55.

56.

57.

58.

59.

60.

Direction (55)

Among the given four words only one
word which can be formed from the
letters of the given word. Identify the
word.

Newspaper
1) now 2) swap
3) nose 4) pepper

Direction (Question 56 — 59)
If ‘“—’means‘+";

‘x’ means *+’

‘+” means ‘x’ and

‘=" means ‘-’ then answer the
questions 356-59 by converting to
original operators.

The value of 18 x 6 -5=3 is

nHs 2)-5

3i2 4) 10

The value of (52 =12) x 8 +6-5 s
1) 40 2) 36

335 4) 42

16 x(10-6) = 1- 8 gives

1)-6 2)6

3)-8 4) 8

Which of the following is true?

1)18x6is3
2)10-61is 4

2)2x10is 20
4)16+4is4

Direction (60 — 65)
Choose the odd numeral / word / letter
for the questions 60 to 63

)b 2)¢
3Hd 4Hf
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61.

62.

63.

64.

65.

66.

67.

68.

a 2)b

3)d 4H{

1) Banana 2) Orange

3) grapes 4) pomegranate
1) grand father 2) father

3) brother 4) mother

1) 64 2) 25

3) 16 4) 49

1) LMOR 2) KLOR

3) ABDG 4) BCEG

sulflapsnm (eSlsarm srevor. 66—75)
QerGissin’ L prsvg wrhy aflenlsefle
dal Gurmssonsr wrmm  efiec isner
GCaheshiEs

B-ufisar snwemglt Guresrmy A-uflsr anugy @
LS. CPETIY QUHLEISEEESE (PTaTSrs
A-flsr ouwg B-fldr  suwenglGUmsTL)
ELPSITLY] WL BIGMEGHLD eTeaflsl SmGLTemgws A-sir
SLILIG)

1) 14 2) 16

312 4) 6

(M umeneliflsi (pebTeDTITED
B mUMansUSETHLD, (T UremeLS @1l
Wsirormed  @ym  UmemsUSEEHL, @)1
UDEASEHHE BmLufla @@ umsmeih
Bmsourame  Curss  LmmeuseafisT
676007 6001 | 5561 5..

I3 2)3

34 4)6
7897653428972459297647  eTeTm  6TauHT
Qemiflo 9 esrm  @R&EsSEmaT
Qzmikg, 6 ey Q@Qusss0s
(PEITEUT ST Qg mevarL. 7—s:afl6ar
sTeusT 6mufl&h o

1)2 2)S

34 4)3
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6l.
62.
63.

04.

66.

67.

68.

1)a 2)b

3Hd 4) f

1) Banana 2) Orange

3} grapes 4) pomegranate
1) grand father 2) father

3) brother 4) mother

1) 64 2)25

316 4) 49

) LMOR 2) KLOR

3) ABDG 4) BCEG

Direction (66 — 75)
Choose the most appropriate option
among the given four options

A is twice as old as B. Three years ago,
A was three times as old as B. The
present age of A is

1) 14 2) 16
3) 12 4) 6

Two ducks in front of a duck, two
ducks behind a duck amd a duck
between two ducks. The total number
of ducks, is

1)s )3

3H4 4) 6

The number of 7’s in the number
series 7897653428972459297647 which
are preceded by 9 and also followed

by &, is
12 2)3
34 ) 4) 3
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69.

70.

71

72.

73.

74,

75.
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Grieuflenswms gjuihgster WTeorsutsefish
seflgnr @m oenassflgnfi@ig 21-usnrs
SufhSmismn  gsusflansulles o erer
omsseuSefleir srettrenfisand

1)42 2) 40

3)43 4) 41

the day before yesterday was Sunday
stafle, the day after tomorrow etamug;)
1) Thursday 2) Friday

3) Wednesday 4) Tuesday

9+ 4 =369413; 8 + 3 = 248311 araflso
7+4=

1) 281174
3) 287428

2) 287411
4) 112874

ErenE @ess wlsliGufiy  erewmeniih@L,
ErenE @wds sFAfu  steranfihgia
o iTem aflGHursLd
1) 9999
3) 8999

2) 8888
4) 9000

epsiT) [Blevsas erenaraseifledr ersveramflbona
1) 999 2) 900
3) 111 4) 990

& preflsb sigsmysSer weofl HmId Bl

plast  gemgy  GFmu  Crgmsefler
eTaoT swofl 5 6m S

1) 24 2) 23

3)12 4) 22

A fan always has

1) Switch 2) Current

3) Wire 4) Blades

RangaRakes

69.

70.

71.

72.

73.

74.

75.

In a row of students, Kavitha is 21%
from either end of the row. The
number of students in the row is

1)42 2) 40

3)43 4) 41

If the day before yesterday
was Sunday, the day after
tomorrow will be
1) Thursday

3) Wednesday

2) Friday
4) Tuesday

If 9+4 = 369413 and 8+3 = 248311 then

T+4 =
1) 281174 2) 287411
3) 287428 4) 112874

The difference between greatest four
digit number and the smallest four
digit number is
1) 9999
3) 8999

2) 8888
4) 9000

The number of different 3 digit
numbers is
1) 999
3111

2) 900
4) 990

The number of times in a day, the two
hands of a clock coincide is

1) 24 2)23

3)12 4) 22

A fan always has

1) Switch 2) Current
3) Wire 4) Blades
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auflpsmm (eSlsarm eTetr. 76 (e 80 susmiy

A upmuo B g éhu L s Ense @ Gu e Gem_iy 2 serg. 50z wrdifwrsr Ggr_iy C
wpgn D-G@ib BasGurame wrhy ofwisst (), (2, @), @)-HEis D-Nmears
CaiinblsHésn.

Direction (76- 80 )

There is a relationship between the figures (A) and (B). The same relationship exists

between the figure (C) and one of the options (1), (2), (3), and (4). Choose the correct
option

A 900
&A@)
® QO @

/ENO3 ?

A B C D

O V

(1) 2) (3) (4
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N B C D
ADY4AR @ @@
\L/ &/
(1) (2) (3) (4)
80.
Y/ @ /74 B
A B C D
\/ % 7 /\
(1) {2) (3) {4

suifliysnm (eflsrnsas 81 (ps6d 85 susmi)
Gar@&ssium L 3 umseflar Qgm_ifdlurs D @msEonerme D-ufsner wrhgelianL s
(1)1 (2)! (3)3 (4)'615](5!.591 Ggﬁ'ﬁmg@é&

Direction (81 - 85)

Select a figure from the answer figures (1), (2), (3) and (4) which would continue the
series (A), (B), (C).

T
SN
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A B C D
(1) (2) (3) (4)

86, GaT@SHsLULL UL&H0 o siar WaGammrhis sl ssuorsmnfléme
The number of triangles contained in the figure

is

(116 (2)10 3)8 (4) 12

87. e@ usmLWST G Cudtuprar st LLSH0 smiLiu@errg. Qe 1687
STETUSHSLD D|GLOILILD 6T66T

Two positions of a block are given below. When 1 is at the top, which number will be
at the bottom

I~

2

16 (2) 4 (3)3 43
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88. Qm omréegy suganh Qamergnporny Speramih UL DML SIeTaTg| sTerllid BySsemrd
FSiTEEe 2-6@ srflynesr uSESHs 2 _sTer sTedT.

A sheet of paper as shown in the figure is folded so as to form 2 cube. By identifying
the faces, the side opposite to 2 is

2

n
L,
[-—
oL g

(1 (2) 6 (3)4 (4)3

89. /

—  esrugsT ssmantmeufl sremriu@in Sibul

The mirror image of b s

(1) 2) |— (3)

1

(4) —

—J
90.

STEITUSGHT SavoramTme ufNeh smrerar(iLEih buid

The mirror image of
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